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East Preston Islamic College 

Immersion Program (EAL) Term 3 

2016- Holiday homework for grade 9&10 

Islamic studies, Arabic and Mathematics 

 

Studentôs nameéééééé..ééé.. 

 

ъмϜ: бтϽЫЮϜ дϜϽЧЮϜ  

 

СЋЮϜ ϞыА сЯК м ЙЂϝϧЮϜ ϽІϝЛЮϜ   : ϣуϦъϜ ϼнЃЮϜ  ЕУϲ 

 

 ϤϝтϼϜϻЮϜбϯзЮϜ ϼнГЮϜ  

 

    :ϣуϠϽЛЮϜ ϣПЯЮϜ ϝужϝϪ 

  

       СЋЮϜ ϞыА сЯК м ЙЂϝϧЮϜ ϜЮϽІϝЛ  ЉзЮϜ Ϣ̭ϜϽЦ  иϝжϸϜ 

 ϣЯϛЂъϜ сЯК ϣϠϝϮъϜм ϢϝГЛгЮϜ  
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Maths: Solve the following questions:  

1. For the expression ī5xy
2
 +2y + 8y

2
 + 6 the coefficient of the third term is: 

A -5 

B 2 

C 8 

D 6 

E 5 

2. The coefficient of x
2
 in the expression 

5

2x
 + 

3

x
 + 

24

3

x
 is: 

A 5 

B 4 

C 
5

1
 

D 3 

E 
3

1
 

3. What is 
24

12

x yz

xz
 simplified? 

A 3xy  

B 
2

3

x y
 

C 
8

xy
 

D 
3

xy
 

E 8xy  

 

4. Mel had $60 in her purse. She spent $(x + 10). The amount left is: 

A $(x ī 50) 

B $(60 ī x) 

C $(70 ī x) 

D $(x ī 70) 

E $(50 ī x) 

 

5. Which of the following is a like term with 3x
2
y? 

A 3 

B xy 

C 3xy 

D yx
2
 

E y
2
x 
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6. The volume V of a sphere is given by the formula 3

3

4
rV p= , where r is the 

radius of the cone. The volume if r = 2 is: 

A 8.38 

B 25.13 

C 33.51 

D 75.40 

E 100.53 

 

7. What is ī10xy
2
 + 7xy

2
 simplified? 

A ī3xy
2
 

B 3xy
2
 

C 3x
2
y 

D -3x
2
y

4
 

E -17xy
2
 

 

8. What is 2ab ³ 3ab simplified? 

A 5ab 

B 5ab
2
 

C 6ab
2
 

D 6a
2
b 

E 6a
2
b

2
 

 

9. Which of the following expressions is equal to ( 3) ( 3)(3 1)x x x+ + - +? 

A 23 3x x-  

B 23 7x x-  

C 23 2x +  

D 29 3x x-  
23 6x x- E.     

  

 

10. Answer the following for each expression. 

(i) State the number of terms. 

(ii)  State the constant (if there is one). 

(iii)  State the term with the smallest coefficient. 

 

(a) 3x
2
 - 4x + 5 

(b) y
3
 + 4 ī y 

(c) 6ab
2
 + 7b

2
 + 2a

2
b 

 

 


